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Instruction for the Question Nos. 26 to 30 : '
Read the following passage carefully and answer the following quest! Qb iR 458 dhagen
We in India have our own special problems. No one can deny that sor'n M def.”OUs
and must be attacked with vigour and determination. Our national objec freedom to leag "‘lEd
We aims at providing every citizen with the basic necessities and compl.ete o et !Ife
her own choice. We aim to create a democratic society, strong and free m.whlc every cmzen,.|rre5pecti,@E
of his religious beliefs, will occupy an equal and honoured place, and be BWE-" full and equal OPPOrtupig,
for growth and service. We aim at ending untouchability and doing away with the present i”eq'-'aﬁties o
status and wealth. We are opposed to the concentration of wealth ina few hands.

ons that follow:

naturE
clea”v

this nr.

26. This passage could most probably be a part of -

(@ A Personal Letter (b) The Indian Constitution

(©)  ASpeech (d) A book on Political Science
27- The underline word in the passage ‘vigour’ means -

(@)  physical tension .(b) forcefulness of language

(€) loose temper (d) force
28. Pick out the wrong statement - )

(@) The problems of Indians are like anyone else’s. (6) There is no uncertainty about our national

objectives.
(€)  Our goal is to build an Indian free from(d) Some of our problems can be handled only by
economic exploitation. strong people.

29. What is the synonym of the phrasal verb ‘doing away with’ used in the passage?

(@) create (b)  remain forever

(c) abolish (d)  doing with
30.  According to the author our national objective is to -

(@) favour the concentration of wealth in a few(d) create unequal opportunities for all.

hands.

() end economic prosperity in the country. (4 promote individual freedom and prosperity:
31. Consider the following statement and choose the correct option -

The Dash is used -

(1) To indicate an abrupt stop or change of thought

(1) To resume a scattered subject

(@ oOnly (1) (b)  Only (i)

() Both (1) and (Il) (@) Neither (1) nor ()
32. choose the correct word which expresses the meaning of the underlineg Word of the sentence given

below -

Deepak has a penchant for fine Poetry.

(a) Training (®)  Desire

() Bias (@) Liking
[C-2-24] 153102 page 4 of 16 1

~ g

—_

-



iate word given below,
33. Fillin the blank with the appropriate

The Air India........concessional tickets these days.
(@) issues ©) issued
© isissuing 9 have issued
34. Change the voice and select the correct passive voice from the given options -
Someone gave her bull dog.
@ She s being given a bull dog by someone.  (b) * A byl dog was given to her.
(©) She has been given a bull dog. () She was given a bull dog.
35 Which of the following is correctly punctuated?
What a beautiful painting did you paint it.
(@ What a beautiful painting! Did you paint it?  (b) What a beautiful painting: did you paint it?
(©)  What a beautiful painting -did you paint it! (d)  What a beautiful painting did you paint it.
3. Transform the following simple sentence into complex sentence -
He admitted his mistake.
(@ He admitted that he was making a mistake. (b) He admitted that he had made a mistake.,
(©)  He admitted that he was mistaken, (d) He admitted to making a mistake.
37. Choose the correct one which best expresses the meaning of fhe phrase of the underlined words -
I'am like a cog in the whee| of this company.
(@  an important person (b)  the least paid employee
(€) -an unimportant person (d) atechnician
3. Find out the misspelt word -
() L?jg'l‘ (b) believe
(€)  decieve (d) seize
39. Choose the correct worg which is opposite in meaning of the given word. | ,ﬁ'—"ﬁ
Recede N
(_;)__;dVance (b) Approach ¢ Clw}

i
() Forward @ Rush

bubu‘ wet e !
40. Select the correct indirect SPeech of the given sentence - d} ﬂu@ @
| said to him, “Let us go ot for a walk 7 @
(@ 1 requested him that we should go out for a(b) | suggested him that they should go out for a
walk. walk.

i t we should go out for a
(c) |told him that they should B0 out for a walk. (@) |suggestedto him that w
walk.

[EWT/\\ Page 5 of 16 || “MM""W"“M""I
-2-24]




2

3

31

3

Ic

w“-‘

@,,ja

41. Which one of the following is not used by the fyeifthd A g BTl TP de Eal fofy
people as a method of problem solving? & g H e &R SARLL e Sy 4
(a) Trial and Error (b) Functional Fixedness (a) ward U4 5@ (b) yepTt Roreey
(c) Heuristics (d) Algorithms (c) a: 1120 (d) emfRem
42. Three numbers are in the ratio of 3:4:5 and their ~ 42. IH et @1 ATAT 3:4:3 ® Ud TP Her IR
HCF and LCM are 40 and 2400, respectwely, then LCM ;ﬁtm 40 3R 2400 8, @ A Tl'sl‘ﬁ T
the largest number is - .
(a) 360 (b) 40 (a 360 ® a0 5 A
(c) 240 (d) 200 0@ (c) 240 (d) 200 é@e}\r
43. paralanguage is related to - gﬂﬁ 4 43. grmT ( qﬂrfﬁwarr[) Hafed & — /
(a) Downward (b) Interpersonal skills (a) syl wuEer | () Iraafdad Hrere
communication i | { ‘Gd‘fff" ,&fﬁ W 6/11/*’ -
(c) Non-verbal Verba _
communication communication / ¥ ) s HWower 4 (d) AFAE W W
44. \Which type of problem was used by Kohler in 44, wawl {HIET H BEdR @ 2R f6a yar ot
problem solving? TR $1 JAnT fdar war?
(a) Verbal material (b) Detour problems (a) wnfegd amt (b) awTIe 9 HHEIIY
(¢) Puzzle box (d) None of these () TRelr HopET (d) 37 | P13 el
45. Which one of the following is not a type of 45 fr=feRad & @ & W va yomed HTARS
informal communication network? AR Acad &1 YER T8 a7
(a) Gossip (b) Probability (a) =g (b) FHTEIAT
() Circular (d) Cluster (c) Agper (TRY=) (d) w98
46. |nductive reasoning is based on - 46. JJNTHATHS D IERT 8 —
(a) Specific to general  (b) General to specific (@) fafre @ wmrg (b)) I 9 e
principle principle fi\‘m'fa ki o fergra ™ i
(c) Both type principles Fd) None of these * ?;ﬁ ER F Rigicti(0) £ ¥ ik
47.  Algorithm is a type of - 47. TERe™ TP TR & —
(a) Mechanical solution (b) Rule of thumb (a) Tifye wamme B (b) AAEIRS EH F
(c) Means-end analysis (d) Heuristics (CJ ;W—W Rredtwor (¢) w0 T
48. Find the correct alternative for the missing 48 T© U< » forg ¥ fasey =d HIfSg —
term — ABC, 6, EFG, 210, LK, ?
ABC, 6, EFG, 210, UK, ? @ 990 kg ® 4 10 '(é A
(#) 999 (b} 190 (c) 990 Q) 1000 i
(c) 990 (d) 1000 ey nF v
4. fin any code language, LC is written as 6 and TE 49 afe frt pre e ﬁ\ B 6 Tl E &7 10
is written as 10, then what will be the code of PD foran @i 8, 1 S B8 gy ¥ PD 1
in the same code language? a1 gm? \';;F
(@ 12 (b) 8 (a) 12 (b)g o
L @ 9 (©) 7 @ o g&{\‘ ‘é‘
€224 153102 Page 6 of 16
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51.

52.

53.

55.

57.

(C-2-24] 153102

Thisis a Number

S€ries gj :
the next numpeg, given below. What will be

In the serjes?

1,0,5,8,17, 24
(a) 37 Foronna,,,
b
(c) 33 td: :;
!n:ernal conflict that occurs, when people receive
in

! Ormation incompatible with their value system
is known as -

(@) Cognitive
Dissonance
() Social Dissonance

(b) political Dissonance

(d) Environmental
Dissonance

If both the square root and the cube root of a

three digit natural number belongs to the set of

natural numbers, then the sum of its digits is -

(a) No such number (b) 10
exists
(c) 9 (d) 18

If a subject attempts to solve a problem on the
basis of his past experience, it is called -

(a) Transfer effect (b) Confirmation bias

(c) Mental set (d) None of these

Functional fixedness produces ...................... in
problem solving process.

(a) Facilitation (b) Blocking

(c) Partial facilitation  (d) No effect

The missing letter in the sequence Q, N, K, ?, E

s - ISTAS,
@p (®) H [35
() N (d) L

There is a clock, that is 3 minutes late on Sunday
at 2 p.m. and it is 5 Minutes fast on Tuesday on
2 p.m., when did the clock show the right time?
(a) Tuesday 23.m- (6) Tuesday 6 a.m.

(c) Monday 8 a.m- (d) Monday 10 a.m.

if X men complete 2 work in 40 days and after
adding 5 extra men 10 days are saved, then 30
men will complete this workin .

(b) 30 days

a) 20 days
(a) (d) 10 da/ys———w,

(c) 40 days

50.

51.

52.

53.

55.

56.

57.

Ta-,aqﬂ?
f"aﬁsjamaﬁné%lﬂfﬁ'
T By?

10,5,8,17, 24, ...
(a) 37 (b) 31
(c) 33 (d) 35

TR g,y Rafy B T ST
R S U
B9 W B &, w9 form g A o T &
(@) SisTrers fagay (b) o R
(©) Ao Rty (d) wufareia R
IR Rt A siept areht e W @ T

T T < @ R weet @ W @
S &I, a1 W& B 3APT BT A & —

(a) B1g O weE=T (b) 10
faemm= w8 @
(c) 9 (d) 18

I o v S awen &1 EeE I

TEIgHd B MR TR A BT YA AT &, )
. (- HET 1T 2 |

(a) 3VRYT TN
(c) A=fa® fa=ams

@) F1$ warg =
a3 Q N, K7 E 3 ga s @ _

@ (14N $ ®n

(¢) N d) L

78 o TR B Dqey
e T 0 A 3 g T
w1 08 A O T a9 Ry I R
(a) AR Yd€ 2 99 (b) o
(c) WFAR YIE 8RN (q) 9% 6y
qﬁxmﬁwmmﬁmw?‘ﬁ'loﬁ
aiR 5 fRa
a2 ?ﬁ}?ﬁﬁ?ﬁwmgﬁmﬁﬁ‘a?:&s
(@) 20 T ¥ ®) 30 g s ~
(c) 40 fa= © 10 fasy 2

> 34l
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58. |f two dogs start running in opposite directions 58 af& & F QT:; 7 Iﬁﬁ T8 ar) TBR g ‘??
on a circular path of diameter 7 m with the speed fura feameft & 2.5 9. / Hapvg LES 311”-/%%
2.5 m/sec. and 3 m/sec., then how long will they # Ty A TS ;ﬁ”‘ IRT FXd & o My 4
take to be at maximum distance? e X B A T e wy SUENe
(a) 4 seggnd (b) 3 second (a) 4 DTS (0) 3 FPpvg
(c) 2 second (d) 1 second () 2 DTS (@) 1 Hpog
59. The serti-diameters of bases of two cylinders A 59. &) i+l A TT B @ m B Aoy 323
and B ar®in the ratio 3:2 and their heights are in § g aur gDl n:l® 37T &
the ratib h:1. If volume of cylinder A is 3 times of ¥ afd IT A DT AT, I B & aypeyery .
volume of cylinder B, then value of n is - 371 &1, a1 n BT A I~
(a) 4 (b) ; (a) # (b) 3
3 3 2
(c) 2 (d) 3 (c) 2 (d) 3
3 4 3 4
60. AnOOp{.E‘gSunilare ranked seventh and eleventh 60. U@ ®&T @ 31 Uﬁﬁ # I 3R G &1 7w
respectj#ely from the top in the class of 31 HIR § HAL: Fiadl ’R ARG 2| weyy ¥ 4
studentsO What will be their respective ranks J IAHT HHI HH FIT ENIT?
from th&pottom in the class? : .
b . A
(a) 25t and 21° (b) 24th and 20t - IR 21 T\ \JP) 24 u IR 207
(c) 26t and 22 (d) 20t and 23 /_l'.- (€) 26 af 3iR 22 af (d) 20 a7 3R 23 4
61. Statement : College students should be FJ) 1. o : Bl & BT B ARG TRRARY
restricted from participating in 7 A AT Y | W R s =i
political activities. L7 _ VR .
Argum@ : (1) Yes, college students should I[ / @ (=, @ BT B 3 UgTg R €T
E concentrate on studies. P & Ry |
o0 () Yes, colleges are becoming battle () &, B ITife <l @ fore o @
o ground for political parties. AH 9 o7 =
Select the correct answer - TR TR By )
(a) Only argument Ilis  (b) Only argument 1 is (a) N -
strong strong T 1l Uqer & (b) DI dP | U9 &
(¢) Neither Inorllis  (d) Both|and I are © 7 o 7 | sk T 11 () QT 1TE Il vEd €
strog strong 9e 2
62. Which ef the following is determined with the 62. gy
help of fjjytogram? o ey ¥ frgs fukor § @@
BRAT 87
(@) Modg] (b) Median (a)
(c) Harmom‘c mean (d) Arithmetic mean (©) (b) HIfST®HT
63. 11 ObSQJV;t'O“s aré arranged in ascending order.  63. 11 Yeoiy ke (d) |HT=R #AA
’ loban t?re respectively the arithmetic means afy a;} HH #§ afRerd fdar STl d
of observation on even and odd places, then the 0% o YT fagg vl ® i
mean of all 11 observationg i EIE| ﬁﬂuﬁ & LB L Er w71
(a) 9.48 ®) 9 45 Mg R Ay # e 11 9
(c) 9.50 (d) 8.63 (@) 948
64. The relation that is there b (€) 9 50 (b) 9.45
. etw 6 *
remains the same between 15 am:?en nd 16, 64 gy ey g (d) 8.63
(a) 42 b) 33 o W R T 163 & ) ey 12T o
M @ 29 (@) 42
[C-2-24] 153102 () 34 (b) 23
Fage8 of 16 (d) 29
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65.

66.

67.

68.

69.

70.

71.

(C-2-24] 153102

Choose the nu L
mb i different
from others - er pair/group which is
ahas (b) 18:73
¥ 22 (d) 15:46

Which problem task is not used in animal subjects
among following?

(a} PUZZ'E box

(b) Detour problem
(€) Anagrams

(d) Double alternation
problem

Select the related number from the given
alternatives —

4:17::7:?
(@) 50 (b) 49
() 51 (d) 48

Which one of the following years will have the
same calender as of 2009?

(a) 2014 (b) 2016
(c) 2017 (d) 2015

Arrange the following words in the meaningful
manner —

(1) Train

(2) Car

(3) Cycle

(4) Bus

(@) 1,2,3,4 (b) 3,4,1,2

(c) 1,3,4,2 (d) 3,2,4,1

If E =5, AMENDMENT = 89, then SECRETARY is
equal to -

(a) 114 (b) 100

(c) 115 (d) 112

Given below are two statements, one is labelled
as assertion (A) and other is reason (R) -
Assertion (A) — Oral communication is a useful
channel of communication.
Reason (R) — Because oral communication has no
proof what has been communicated.
Select the correct answer using the code given
below -
(a) Both (A) and (R) are () (A)is false but (R) is
true and (R)is true
correct explanation
(c) Zliﬁ’m and (R) are (9) (A) is true but (R) is
true but (R) is not false
correct explanation

2087487

[=2]
~

g 2087487

9087487

. -
O gy g o o @

(@) 8:25 (b) 1yy

(©) 22:67 (d) 15:46 F

ﬁ“g?ﬁ LR R R ﬂmrﬂg?m 73

ITAnT 78 ATl a
(@) o&eh & :@ﬁm(b) argcael 0
©) Tmmg (d) gl P
IS a4

- Ry R ¥ et wem @

Pifore —

4:17::7:2

(a) s (b) 49

(c] 51 (d) 48

e ¥ W fpw a4 1 Berex ad 2009 P TE
B BIT?

(@) 2014 (b) 2016

(c) 2017 (d) 2015 ‘
Arefifes weat @1 i sefqd w9 3
ayafterd &% — —

= 7

R)FR .~

(3) Wréfe_— :
(4) 99

(@ 1,234 (b 3,4,1,2 d
(c) 1,3,4,2 (d3,2,4,1

g{ s1dr201 (395
g E =5, AMENDMENT = 89 &I, T 'SECRETARY™
W & —

(a) 114 (b) 100

(c) 115 (d) 112

e ao & R A B e (g

AR TR B FRO (R) FET T R —

e (A) - HEE HOR U IRl wee
&1 ARTH B |

Fro (R)— TS MRS R § gy
%.mmmqﬁqgml
4 Ry TR 7T | & SR gy

EFE]'TRTT

@ (A) 3R (R) S () (A) Torg

g AR (R, (A) ey %%(R)
£ F& AT el

2

(©) (A) 3R (R) A (d) (A)

@< & 59 (R), (A) va??%(n)
#1 T8 AT 7

Fdl ©

Page 9 of 16

—-“-‘-‘-.‘-:-.__




72. | after selling 30 pens, the seller observes the 72
profit of sell price of 10 pens, then the profit
percentage Is -

(a) 200% (b) 50%
(c) 66.67% (d) 33.33%

73. A and B are brother and sister respectively. Cis /9
father of A, D is sister of C and E is mother of D,
then how is B related to E?

(a) Great Grand (b) Grand daughter
daughter
(c) Aunt (d) Daughter

74. For one possible solution after another is tried 74
until a successful one is found, is called -
(@) Insight (b) Guess
(¢) Trial and Error (d) None of these

75 Anuj is facing North-East. He turned 90° in the 75
clockwise direction, then 180° in the
anticlockwise and then another 90° in the same
direction. Which direction is he facing now?

(@) South — East (b) North — West
() North (d) South — West

76. Find the missing number in the following - 76.
2,3,4,6,6,9,8,12,10, .................. , 12,18, 14, 21,

16, 24
(@) 16 (b) 15
() 9 (d) 21

77. Arrange  the  following  elements of 77.
communication process in correct sequence —

(1) Source
(2) Channel
(3) Receiver
(4) Message
(5) Feedback
(6) Noise
(a) 4,5,6,1,2,3 ) 1,2,3,4 5,6
(©) 1,4,2,3,6,5 () 1,3,4,2,6,5
78. Which one of the following is NOT a component  78.
of listening?
(@) Responding (b) Persuasion
(©) Sensing (d) Evaluating
79. |If 3+b=E+§,then the value of a? + b2 js - 79.
(© 1 (d) 2
[C-2-24] 153102 Page 10 of 16
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(a) Tl VM/M .ﬁ,‘fm@
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80.

81.

82.

83.

84.

85.
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Wthh cOmmUni

e Cation n rk promotes an
individua| Eomork P

communicate  confidential

informat; .
Mation only with his immediate superior or
subordinate?

to

(@) Cluster — chain

(b) Gossip — chain
(0) WheEI o Chain

(d) Single —chain

In the COMmunication model, the process of
putting the ideas into 3 message is known as -
(@) Interference (b) Decoding

(€) Persuasion (d) Encoding

If the area of the base of a cone is increased by
100%, then the volume is increased by -

(@) 182% (b) 100%

(¢) 200% (d) 141%

Which one of the following is not a psychological

barrier in communication?

(@) Premature (b) Distrust in

evaluation communication

(€) Inattention (d) Bodily expressed

message

Given below are two statements, one is labelled

as assertion (A) and other as reason (R) -

Assertion (A) — Clarity of communication is

essential for effective
communication process.

Reason (R) — Because adequacy and timing is not
essential for effective
communication process.

Select correct answer using code given below -

(a) (A) is false but (R) is (®) (A) is true but (R) is

true false

(c) Both (A) and (R) are (9 Both (A) and (R) are

true and (R) is true but (R) is not
correct explanation correct explanation

of (A) of (A)
Who has said, ‘Decision making involves
evaluating alternatives and making choices
among them.'? .
(a) Rathus () Santrock

(d) Baron

80.

81.

82.

85.

. | o @
T R B i o e S DT
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Tt g 2 2 deom & &7

(@) FqE — sieen (b) e — HE
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B 50 w9 ¥ o i 87

(@) F¥ey (b) arEPHAPOT

©) srgTa (@) HdBHT

ﬁmw@%wmm1m%ww
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86. Assertion (A) - Interpersonal attraction is a part
of social interaction.

Reason (R) — It is necessary for survival,
(a) Both (R) and (A) are (®) (A) is false but (R) is
true and (R) is true
correct explanation
of (A)
(c) Both (R) and (A) are (d) (A) is true but (R) is

true but (R) is not false
correct explanation
of (A)
87. Find the odd one from the given alternatives -
(a) TBVD (b) AXCz
(c) JOKQ (d) FRHT

88. Choose the set of numbers from the alternatives
which is similar to the set (6, 36, 63) -
(a) (94, 44, 5) (b) (7, 49, 98)
() (8, 64, 46) (d) (11, 111, 84)

89. HCF of two numbers is 25 and other factors of
their LCM are 14 and 15. Sum of the numbers is -
(a) 750 (b) 725
(c) 775 (d) 700

Find the correct alternative from the following —
Glasses : ? : : Bicycle : Unicycle

(@) Face (b) Mirror

(c) pedal (d) Monocle

Select one alternative from the following, which
is not a way of dealing with rumours -

(a) Concealment of fact (b) Reduction of causes
* from leaders of
community

(€) Providing facts

90.

91.

(d) Use of reliable
sources

Which one of the following methods of problems
solving gives guarantee of success?
(@) Heuristics method (b) Planning method

(¢) Backward method (d) Algorithms method
A train of length 140 m is running at a speed of
60 km/hr and a cat is running in the same
direction parallel to the train at a speed of
18 km/hr. The train will cross the cat in -

(3) 10 seconds (b) 11 seconds

() 12 :econds (d) 12—:- seconds

92,

93.

_ A) — SIS 3oy
86. afymu ( _ A1

BT TH 97 8 |
FROT (R) — TE ST 2 3w 3
(@) (R) 3 (A) T () (A) TR 2 Ry

g & 3R (R), (A) qa 2
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o
e B
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N g & fPg (R),(A) TTad @
F 98 ARAT TR
| &l &
87. A TR Rwedl d 9 famw gfg -
. (a)'fBvD 0) AXEZs
c(c) JokQ (d) ¥RHT

) A 1. A
aag__;;fﬁa‘ﬁqﬁlﬁﬁam‘ra% e B R S wpn
€6, 36,63) F AT & —
(a) (94, 44, 5) (b) (7, 49, 98)
(c) (8, 64, 46) (d) (11, 111, 84)
89. Y AT BT HCF 25 & T IHD LCM B 3
TUHAEYS 14 3R 15 & | He&@Rit &7 4T & —
(a) 750 (b) 725
’i'(¢) 775 (d) 700
90, '\ Freafera # & W& Rarea &1 T B -
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%. Blind and not blind is an example of - (Z

#. Shyam is friend of Ram Pointing to Manish,
Shyam asked Ram, who is he? Ram said, “His son

is my SON's uncle”, Manish is related to Ram as -
(a) Grandfather (b) Brother

(¢) Father (d) Father-in-law

¢. If the radius of a cylinder is increased by 25%,
then by how much percent the height must be

reduced, so that the volume of the cylinder
remains same?

(a) 42 (b) 36 !I
) 62 (d) 58 b
e
"\
(b) Quantitative data
(d) None of these

() Qualitative data
(¢) Both (a) and (b)

97. Originally who developed the concept of
Transactional Analysis’?

(@) Joseph Luft (b) Eric Berne Et
(¢) Harrington Ingham (d) None of the abpve
9. |f the LCM and HCF of two polynomials are &ﬂ- 1)

(x* + 6x + 8) and (x + 1) respectively and dne of
the polynomial is x? + 5x + 4, then the other is -

(@ x*+3x+2 (b) x2 +2x +3
(€) x2=3x+2 (d) x2-2x+3
%.if on 31%* March, 2008 is Monday, then what day
shall be on 31* March, 2011? e
(@) Tuesday (b) Thursday A
(¢) Sunday (d) Saturday :

100. Refer to the statements given below —

I. All boys are truthful.

Il. Kamal is boy.

Conclusion —

(1) Kamal is truthful. (¢

(2) All truthful persons are boys. e

Select the correct answer using the code - :f

(a) Only (1) is correct ‘33 Dn!v (2) is correct

(¢) (1) and (2) both are (d) Ne|the{k1) nor (2) is
0

corre
correct V

60 &{M\B

_. S _’_____,_,__—-—-—*_'-'_ﬁ
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95.

96.

97.

98.

99.

100.
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